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ENGLISH VERSION

Instructions :

(1) All questions carry equal marks.
(2) Attempt any four questions.

Sanyam Manufacturing Co. manufacturers two items branded as
X and Y. There is no stock of work in progress, but it is a system
to keep the closing stock of finished goods is to be maintained
at 30% of monthly sales of next month.

For the year 2019-20 the company’s expected production is
as follows :

Item X @ ... 36,000 units

Item Y : ... 30,000 units

The details of the cost is as follows :

Particulars X (Rs.) Y (Rs.)
Direct Material — per unit 60 90
Direct Wages — per unit 40 60
Other overhead Exp.

(According to Production) 2,88,000 4,20,000

The estimated sales of the units for the first 8 months of
the year 2019-20 is as follows :

Brand April May June July
X 1000 1200 1400 1200
Y 2000 1500 1000 1400
Brand Aug. Sep. Oct. Nov.
X 1500 2000 2500 1800
Y 1500 2500 3000 2200
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Prepare from the details given above :

(A) Production Budget (showing the production units of the first
6 months)

(B) Describing Budget of Production Cost (For the first 6
months).
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2  Saloni Ltd. comes into existence for buying a current business.
It issued equity share capital of Rs. 50 lakh and 10% Debentures
Rs. 16 lakh and created fund. Interest on debentures will be paid

annually.

Starting output cash flow :
Building .................... Rs. 27,00,000
Plant....ccooooveeeenei. Rs. 10,50,000
Motor Car.....ccoceeeenn.... Rs. 5,00,000
Computers................... Rs. 1,50,000
Stock..ooeeeiieiaen. Rs. 6,60,000

The above payment is to be done in a month of company’s
registration. At the end of 30th September, 6 months expected
sales are as follow :

Month ........ Sales (Rs.)

April oo 15,40,000
May ..o, 16,50,000
June ...ooooooo..... 20,35,000
July oo 27,50,000
AUE. oo, 29,15,000
TS TR 30,80,000

Other details :
(1) The level of stock will be maintained monthly uniformly.
(2) The credit period for the debtors will be of 2 months.
(3) The credit period of the creditors will be of 1 month.
(4) The gross profit on sales is 20%.
(5) Wages and Salary :
First three months Rs. 88,000 monthly,
For the later period Rs. 1,04,500 monthly.
(6) The time lag in payment of wages and salary is one month.
(7) Primary expenses of Rs. 55,000 will be paid in the month
of May.
(8) The office exp. will be paid end of every month of Rs. 44,000.
(9) Equity shares and debentures will be issued on 15! April.
Prepare in the books of Saloni Ltd. :
(A) Cash Budget (for first 6 months)
(B) Estimated Annual Accounts upto 30/9/2020.

3  Maheshwari Ltd. is manufacturing two products A; and A,, have

the following independent possibilities before it.

(1) To produce and sell an additional 15,000 units of A,, but
only if the production of A, is reduced by 20,000 units.

(2) To reduce the price of A; by 25 paise per unit. This will
have the effect of increasing the sales of A; by 20%.

(3) To produce and sell 55,000 units of A; and 1,02,500 units
of A,.
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The operating results of the concern are given below :

Particulars Product A;| Product A,
Sales (Units) 50,000 10,0000

Rs. Rs.
Sales Value 2,50,000 8,00,000
Cost of Sales 1,50,000 6,00,000
Gross Profit 1,00,000 2,00,000
Sales Distribution Expenses 70,000 1,40,000
Net Profit 30,000 60,000

Direct cost included in the total cost amount to Rs. 1,25,000
and Rs. 3,20,000 for the product A, and A, respectively.

Present the figures to the management in a suitable form,
giving your recommendations.

The workings of a manufacturing department-I at Samarth Co.,
Ltd. are given below :
Monthly Informations :
Sales ...coceeeennnn... Rs. 3,60,000 Fixed Expenses....Rs. 60,000
Contribution ...... Rs. 1,35,000 Production (Units)...... 18,000
Number of workers employed = 360

The board of directors plan to introduce more mechanization
into the department at a capital cost of Rs. 54,000. The proposed
mechanization will lead to reduction in the labour force by 60
but the productivity can be increased by 70%. To provide
necessary incentive to the workers for higher productivity, the
board intends to offer a 3% rise on the piece work rate of Rs.
5 per unit for every 10% increase in average individual output.

It is also proposed to reduce the selling price by 4% to sell
the entire production. The cost of capital is assumed to be 12%
per annum.

Give report to the board of directors showing the profitability
of implementing the above proposal. Give necessary workings.

Division-A is a profit centre, which product four products O, P,
Q and R. Each product is sold in the external market also. Data
for the period is as follows :

Particulars 0 P Q R
Labour Hours (per unit) 3 4 2 3
Market Price (per unit) (Rs.) | 150 146 140 | 130
Variable Cost (per unit) (Rs.)| 130 100 90 85
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Product-R can be transterred to Division-B, but the maximum
quantity required for transfer is 2,500 units of R.
The maximum sales in the external market are as under:

Product | O P Q R
Units 2800 | 2500 | 2300 | 1600
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Division-B can purchase the same product at a slightly
cheaper price of Rs. 125 per unit instead Division-A.

What should be “Transfer price” for each wunit of
product-R, if the total labour hours available in Division-A are :
@ 20,000 Labour Hours
(1) 30,000 Labour Hours

6  Ajanta Ltd. provides estimates for the year 2019-20 as under.

Particulars Product A | Product B
Sales (Units) 10,000 25,000
Per Unit Per Unit
(Rs.) (Rs.)
Sales Price 70 100
Less : Profit -10 -15
Cost Price 60 85
Direct Material 22 30
Direct Wages 20 30
(per hour Rs. 2)
Variable Overhead Exp. 8 10
Fixed Overhead Exp. 10 15

In this company 1/3 capacity is unused. To improve this
condition following strategy are under consideration :
(1) Production of product-A is stopped and this capacity is used
for product-B, and selling price is decreased by Rs. 3.
(2) Production of product-B is stopped and this capacity is used
for product-C.
Details for product-C (per unit)

Selling price .........cccoeeeeeeeeeieeeieiiinnnn. Rs. 93
Direct Material ....................coooee. Rs. 28
Direct Labour.............cccoooeoiiiiiiiii. Rs. 25
Variable Overhead Exp. ................. Rs. 11

Prepare statements :

(1) Showing current Profitability.

(2) Showing profitability as per strategy-1.
(3) Showing profitability as per strategy-2.

7  Explain the meaning of value chain analysis and discuss the
impact of value engineering on profit. Distinguish between value
engineering and value analysis.

8 Explain in detail :
(1) Product life cycle costing.
(2) Importance of Quality Costing.
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